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QUESTION 1

Refer to the exhibit.
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NYC_Userl is entitled to the AMERL1 global entitlement and has a global home site of NYC. - AMERL1 includes VDI1,
VDI2, and VDI5 and has a scope of Any.

Based on the exhibit, when NYC_Userl logs into LA2, the Cloud Pod Architecture feature will allocate a desktop from
which pool?

A.VDI1
B. VDI1 or VDI3
C. VDI2 or VDI4
D. VDI5

Correct Answer: B

QUESTION 2

What are three reasons to choose linked clone virtual machines instead of full clones? (Choose three.)
A. Linked clones reduce the amount of free storage space required for virtual desktops.

B. Linked clones provision faster than full clones.

C. Linked clones reduce the storage IOPS compared to full clones.

D. Linked clones can be reconfigured in large batches by using recompose operations.
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E. Linked clones can be used for a broader variety of user types and use cases than full clones.

Correct Answer: ABD

QUESTION 3

Which prerequisite must an administrator verify before installing a View Connection server?
A. Internet Information Services (IIS)

B. Dynamic IP address

C. Apache Web Server

D. Static IP address

Correct Answer: D

QUESTION 4

An administrator needs to configure a Linux virtual machine template to support guest customization. The administrator
has installed VMware Tools.

Which additional component is necessary to enable Linux guest OS customization?
A. Perl

B. Bash

C. Python

D. Sysprep

Correct Answer: A

QUESTION 5

All RDP connections to virtual desktops must use the Horizon Client. Direct RDP connections using alternate clients
must be disabled due to security considerations.

Which step must be taken to prevent direct RDP connections?

A. Select No for the Allow users to choose protocol option and select PColP as the default protocol.

B. Apply the AllowDirectRDP GPO to the virtual desktops.

C. Apply the AllowDirectRDP GPO to the Connection Server.

D. Select Yes for the Allow users to choose protocol option and disable RDP access in the global policies.

Correct Answer: B
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